Chesterfield Township School APRIL 2021 HEALTH OFFICE REPORT

Date: MAY 5, 2021

Student Visits:	Category	Number
	First Aid	31
	Medications	9
	Medical	33
	Other	16
	Counseling	0
	Health Screenings	98
	Health screenings for I&RS or CST	0
	Head lice checks	0
	DYFS	0
	Staff Visits	6
	Parent Communication	205
	Documentation of records	31
	Daily COVID screening	10

Health Office Visits:	Total: 439	Per Day: 40
-----------------------	------------	-------------

Communicable Diseases:	Disease	Number of cases
	Strep Throat	0
	Conjunctivitis	0
	Lice	0
	Flu	0
	Impetigo	0
	Ringworm	0
	Chicken Pox	0
	COVID 19 cases	1 staff; 0 students

Accident Reports	0
Students on daily medication / treatment	1
Telephone Calls to parents for illness or injury at school	0
Attendance Meeting as Attendance Officer	0
Special Services – I&RS, IEP, 504 meetings attended by nurse	0
Telephone calls to Poison Control	0
Students Out of District	7
DYFS	0
Home Visits	0
Students on Homebound Instruction	0
COVID 19 Contact Tracing	0

- Collaborated with BCHD on individual cases r/t COVID
- Data entry of medical information updates for incoming 6th grade students
- Review and data entry of medical information/requirements for all incoming Kindergarteners
- Immunization compliance audit of all current students ongoing
- Annual health screening ongoing
- Supply order

School Nurse: Charmaine Ramos, MSEd, BSN, CSN, RN	Charmaine Ramos
Courtney Gauze, BSN, RN	Courtney Gauze

Emergency Drill Log for 2020-2021 School Year

Month	Date	Type of Drill
September	September 17, 2020	Fire Drill
<i>p</i>	September 18, 2020	Fire Drill
October	October 29, 2020	Communications Drill
	October 30, 2020	Communications Drill
November	November 4, 2020	Fire Drill
	November 25, 2020	Lockdown Drill
December	December 1, 2020	Fire Drill
	December 4, 2020	Stay in Place Drill
January	January 27, 2021	Bomb Threat Drill
•	January 28 & 29, 2021	Stay in Place Fire Drill
February	February 22 & 23, 2021	Stay in Place Fire Drill
	February 24, 2021	Class Evacuation
March	March 5, 2021	Stay in Place Fire Drill
	March 9, 2021	Stay in Place Fire Drill
	March 22, 2021	Lock Down Drill
	March 23, 2021	Lock Down Drill
April	April 20, 2021	Stay in Place Fire Drill
	April 27, 2021	Lock Down Drill
May	May 10, 2021	Stay in Place Fire Drill
	May 17, 2021	Lockdown Drill
June		

Facilities Report May 2021

- 1. Replaced the HVAC mini split unit in the server room.
- 2. Asphalt contractor came to the building to assess our parking lot and basketball courts for preventative maintenance and repairs. The contractor will send proposals for the work to be done. The district is using the ESCNJ C0-0P pricing for the work.
- 3. The District has hired a lawn service company to maintain the grounds at the fire house. The company is set up to services the ground every two for now.

Andrew Polo Business Administrator May 26, 2021

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15263	Closed Work Orders	4/1/2021 3:58:40	Robert Carter		30 Saddle Way
	Monthly - Fire Extiguishers - Refer to PM schedule details.	4/22/2021	Pingitor, Larry		
	fire extinguishers checked out ok	Medium			Fire Exiguishers
15264	Closed Work Orders	4/1/2021 3:58:41	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	4/22/2021	Pingitor, Larry		
	water room no issues found	Medium		Heating/Ventilatio n /Air Conditioning	UH#11
15265	Closed Work Orders	4/1/2021 3:58:41	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	4/22/2021	Pingitor, Larry		
	fire pump room no issues found	Medium		Heating/Ventilatio n /Air Conditioning	UH#12
15266	Closed Work Orders	4/1/2021 3:58:42	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/26/2012 - Refer to PM schedule details.	4/22/2021	Pingitor, Larry		
	fuel for generator 623 gallons	Medium		Fuel#1	Fuel#1
15267	Closed Work Orders	4/1/2021 3:58:43	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/30/2012 - Refer to PM schedule details.	4/22/2021	Pingitor, Larry		
	solar readings for march 550978	Medium			Solar 1
15268	Closed Work Orders	4/1/2021 3:58:44	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/26/2021	Pingitor, Larry		
	240 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#64
15269	Closed Work Orders	4/1/2021 3:58:44	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/26/2021	Pingitor, Larry		
	102 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#67
15270	Closed Work Orders	4/1/2021 3:58:44	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/26/2021	Pingitor, Larry		
	103 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#68
15271	Closed Work Orders	4/1/2021 3:58:45	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012- Refer to PM schedule details.	4/26/2021	Pingitor, Larry		
	hallway by 103 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#84

5/12/2021 11:22:09 AM Page 1 of 22

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15272	Closed Work Orders	4/1/2021 3:58:45	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/26/2021 Medium	Pingitor, Larry	Heating/Ventilatio	HP#69
	104 filters changed			n /Air Conditioning	111 1100
15273	Closed Work Orders	4/1/2021 3:58:45	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/26/2021 Medium	Pingitor, Larry	Heating/Ventilatio	HP#83
	109 filters changed	Modrain		n /Air Conditioning	HF#03
15274	Closed Work Orders	4/1/2021 3:58:45	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/26/2021	Pingitor, Larry		
	108 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#70
15275	Closed Work Orders	4/1/2021 3:58:45	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/26/2021	Pingitor, Larry	Hooting Montilatio	UD#74
	110 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#71
15276	Closed Work Orders	4/1/2021 3:58:45	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/26/2021 Medium	Pingitor, Larry	Heating/Ventilatio	HP#82
	111filters changed	Modrain		n /Air Conditioning	HF#02
15277	Closed Work Orders	4/1/2021 3:58:46	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/27/2021	Pingitor, Larry		
	112a filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#72
15278	Closed Work Orders	4/1/2021 3:58:46	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/27/2021 Medium	Pingitor, Larry	Heating/Ventilatio	110#70
	112b filters changed	weatuiti		n /Air Conditioning	HP#73
15279	Closed Work Orders	4/1/2021 3:58:46	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012-	4/27/2021	Pingitor, Larry		
	Refer to PM schedule details. hallway by 112a filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#85

5/12/2021 11:22:09 AM Page 2 of 22

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15288	Closed Work Orders	4/1/2021 3:58:48 F	Robert Carter		30 Saddle Way
	Refer to PM schedule details	4/27/2021 Medium	Pingitor, Larry	Heating/Ventilatio	HP#78
	hallway by122 filters changed			n /Air Conditioning	111 #70
15289	Closed Work Orders	4/1/2021 3:58:48	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/27/2021 Medium	Pingitor, Larry	Heating/Ventilatio	LID#50
	217 filters changed	Weatum		n /Air Conditioning	HP#59
15290	Closed Work Orders	4/1/2021 3:58:48	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/27/2021	Pingitor, Larry		
	220 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#32
15291	Closed Work Orders	4/1/2021 3:58:48	Robert Carter		30 Saddle Way
	Refer to PM schedule details	4/27/2021	Pingitor, Larry	Llooting (Vantilatio	LID#00
	221 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#33
15292	Closed Work Orders	4/1/2021 3:58:48	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/27/2021 Medium	Pingitor, Larry	Heating/Ventilatio	UD#EE
	222 filters changed	Weatum		n /Air Conditioning	HP#55
15293	Closed Work Orders	4/1/2021 3:58:49	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/27/2021	Pingitor, Larry	11 87	
	hallway by 221 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#37
15294	Closed Work Orders	4/1/2021 3:58:49	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/27/2021	Pingitor, Larry	Hooting Montilets	LID#0
	223 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#34
15295	Closed Work Orders	4/1/2021 3:58:49	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/27/2021	Pingitor, Larry	Handing Alexander	
	224 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#54

5/12/2021 11:22:09 AM Page 4 of 22

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15296	Closed Work Orders	4/1/2021 3:58:49	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/27/2021 Medium	Pingitor, Larry	Heating/Ventilatio	HP#35
	225 filters changed	modram		n /Air Conditioning	111 #33
15297	Closed Work Orders	4/1/2021 3:58:49	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/27/2021 Medium	Pingitor, Larry	Heating/Ventilatio	LID#F0
	226 filters changed	Weatum		n /Air Conditioning	HP#53
15298	Closed Work Orders	4/1/2021 3:58:49	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/27/2021	Pingitor, Larry		
	227 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#38
15299	Closed Work Orders	4/1/2021 3:58:50	Robert Carter		30 Saddle Way
	Refer to PM schedule details	4/27/2021	Pingitor, Larry	Hosting Wontilatio	LID#F0
	228 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#52
15300	Closed Work Orders	4/1/2021 3:58:50	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/27/2021 Medium	Pingitor, Larry	Heating/Ventilatio	HP#51
	230 filters changed	Wedtum		n /Air Conditioning	пг#эт
15301	Closed Work Orders	4/1/2021 3:58:50	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/26/2021	Pingitor, Larry		
	229 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#39
15302	Closed Work Orders	4/1/2021 3:58:50	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/26/2021 Medium	Pingitor, Larry	Heating/Ventilatio	LID#40
	233a filters changed	IVIGUTUITI		n /Air Conditioning	HP#40
15303	Closed Work Orders	4/1/2021 3:58:50	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/26/2021 Medium	Pingitor, Larry	Heating/Ventilatio	LID#50
	hallway by 227 filters changed	IVICUTUITI		n /Air Conditioning	HP#56

5/12/2021 11:22:09 AM Page 5 of 22

Work OrderID		Request Date	Requester	Area Type	Location
	Description	Completion Date	Assigned To	Building	Area Number
	Action Taken	Priority		Craft	Equipment
15304	Closed Work Orders	4/1/2021 3:58:50	Robert Carter		30 Saddle Way
	Refer to PM schedule details	4/26/2021	Pingitor, Larry		
	234 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#50
15305	Closed Work Orders	4/1/2021 3:58:51	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/26/2021	Pingitor, Larry	11	
	233 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#41
5306	Closed Work Orders	4/1/2021 3:58:51	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012- Refer to PM schedule details.	4/26/2021	Pingitor, Larry	Lipotina Maratilati	
	hallway by 236 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#57
15307	Closed Work Orders	4/1/2021 3:58:51	Robert Carter		30 Saddle Way
	Pofor to PM cohodula details	4/26/2021	Pingitor, Larry		
	236 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#42
5308	Closed Work Orders	4/1/2021 3:58:51	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/26/2021	Pingitor, Larry	Heating/Ventilatio	LID#40
	237 filters changed	Medium		n /Air Conditioning	HP#43
5309	Closed Work Orders	4/1/2021 3:58:51	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/26/2021	Pingitor, Larry		
	235 filters changed	Medium		Heating/Ventilatio n/Air Conditioning	HP#49
5310	Closed Work Orders	4/1/2021 3:58:51	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/26/2021	Pingitor, Larry	Hooting Montiletic	
	242 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#36
5311	Closed Work Orders	4/1/2021 3:58:51	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 -	4/26/2021	Pingitor, Larry		
	Refer to PM schedule details. 244 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#48

5/12/2021 11:22:09 AM Page 6 of 22

Work OrderID	Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15312	Closed Work Orders	4/1/2021 3:58:52	Robert Carter		30 Saddle Way
	Refer to PM schedule details	4/23/2021 Medium	Pingitor, Larry	Heating/Ventilatio	HP#44
	242 filters changed			n /Air Conditioning	111 # 4 4
15313	Closed Work Orders	4/1/2021 3:58:52	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/23/2021 Medium	Pingitor, Larry	Heating/Ventilatio	110#47
	245 filters changed	Median		n /Air Conditioning	HP#47
15314	Closed Work Orders	4/1/2021 3:58:52	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/23/2021	Pingitor, Larry		
	246 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#45
15315	Closed Work Orders	4/1/2021 3:58:52	Robert Carter		30 Saddle Way
	Refer to PM schedule details	4/23/2021	Pingitor, Larry	Hooting Montilatio	LID#50
	hallway by 246 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#58
15316	Closed Work Orders	4/1/2021 3:58:52	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/23/2021 Medium	Pingitor, Larry	Heating/Ventilatio	HP#46
	247 filters changed	Median		n /Air Conditioning	ПР#40
15317	Closed Work Orders	4/1/2021 3:58:52	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/23/2021	Pingitor, Larry		
	receiving filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#63
15318	Closed Work Orders	4/1/2021 3:58:53	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/23/2021 Medium	Pingitor, Larry	Heating/Ventilatio	LID#24
	kitchen filters changed	MEGIUIII		n /Air Conditioning	HP#61
15319	Closed Work Orders	4/1/2021 3:58:53	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/23/2021 Medium	Pingitor, Larry	Heating/Ventilatio	LID#20
	kitchen filters changed	ivieaturri		n /Air Conditioning	HP#62

5/12/2021 11:22:09 AM Page 7 of 22

Work OrderID	Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15320	Closed Work Orders	4/1/2021 3:58:53	Robert Carter		30 Saddle Way
	Refer to PM schedule details	4/23/2021 Medium	Pingitor, Larry	Heating/Ventilatio	HP#60
	252 filters changed			n /Air Conditioning	111 #00
15321	Closed Work Orders	4/1/2021 3:58:53	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/23/2021 Medium	Pingitor, Larry	Heating/Ventilatio	LID#440
	hallway by cafeteria filters changed	Medium		n /Air Conditioning	HP#112
15322	Closed Work Orders	4/1/2021 3:58:53	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/23/2021	Pingitor, Larry		
	256 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#109
15323	Closed Work Orders	4/1/2021 3:58:53	Robert Carter		30 Saddle Way
	Refer to PM schedule details	4/23/2021	Pingitor, Larry		
	media center #filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#96
15324	Closed Work Orders	4/1/2021 3:58:54	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/23/2021 Medium	Pingitor, Larry	Heating/Ventilatio	LID#400
	257 filters changed	Meatum		n /Air Conditioning	HP#108
15325	Closed Work Orders	4/1/2021 3:58:54	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/23/2021	Pingitor, Larry		
	hallway by 260 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#104
15326	Closed Work Orders	4/1/2021 3:58:54	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/23/2021 Medium	Pingitor, Larry	Heating/Ventilatio	LID#446
	stage right filters changed	weutun		n /Air Conditioning	HP#113
15327	Closed Work Orders	4/1/2021 3:58:54	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/23/2021	Pingitor, Larry	Hooting Montiletic	
	stage left filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#107

5/12/2021 11:22:09 AM Page 8 of 22

Work OrderID	Status Description Action Taken	Request Date Completion Date Priority	Requester Assigned To	Area Type Building Craft	Location Area Number Equipment
15328	Closed Work Orders	4/1/2021 3:58:54	Robert Carter	Oran	30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details. nurses office	4/23/2021 Medium	Pingitor, Larry	Heating/Ventilation/Air	HP#105
	Trained of the			Conditioning	
15329	Closed Work Orders	4/1/2021 3:58:54	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/23/2021 Medium	Pingitor, Larry	Heating/Ventilatio	HP#101
	lobby #1 filters changed	Median		n /Air Conditioning	HF#101
15330	Closed Work Orders	4/1/2021 3:58:54	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/23/2021	Pingitor, Larry		
	main office filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#102
15331	Closed Work Orders	4/1/2021 3:58:55	Robert Carter		30 Saddle Way
	Pofor to PM schodulo details	4/23/2021	Pingitor, Larry	Heating/Ventilatio	LID#400
	201a vp office filters changed	Medium		n /Air Conditioning	HP#103
15332	Closed Work Orders	4/1/2021 3:58:55	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/23/2021 Medium	Pingitor, Larry	Heating/Ventilatio	HP#99
	205 lobby filters changed	Median		n /Air Conditioning	NF#99
15333	Closed Work Orders	4/1/2021 3:58:55	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/23/2021	Pingitor, Larry		
	205a superintendents office filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#98
15334	Closed Work Orders	4/1/2021 3:58:55	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/23/2021 Medium	Pingitor, Larry	Heating/Ventilatio	LID#40C
	205a boe office filters changed	weutuiti		n /Air Conditioning	HP#100
15335	Closed Work Orders	4/1/2021 3:58:55	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/23/2021 Medium	Pingitor, Larry	Heating/Ventilatio	LID#05
	media center	ivieaturri		n /Air Conditioning	HP#95

5/12/2021 11:22:10 AM Page 9 of 22

Work OrderID		Request Date	Requester	Area Type	Location
	Description	Completion Date	Assigned To	Building	Area Number
	Action Taken	Priority		Craft	Equipment
15336	Closed Work Orders	4/1/2021 3:58:55	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 -	4/23/2021	Pingitor, Larry		
	Refer to PM schedule details. media center no, 2	Medium		Heating/Ventilatio n /Air Conditioning	HP#97
15337	Closed Work Orders	4/1/2021 3:58:56	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/16/2021	Pingitor, Larry		
	art room filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#94
5338	Closed Work Orders	4/1/2021 3:58:56	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 -	4/16/2021	Pingitor, Larry		
	Refer to PM schedule details. hallway by 207 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#93
15339	Closed Work Orders	4/1/2021 3:58:56	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/16/2021	Pingitor, Larry		
	hallway by208 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#111
15340	Closed Work Orders	4/1/2021 3:58:56	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/23/2021 Medium	Pingitor, Larry	Heating/Ventilatio	LID#05
	208c filters changed	Wediani		n /Air Conditioning	HP#65
5341	Closed Work Orders	4/1/2021 3:58:56	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/23/2021	Pingitor, Larry	Hanking A. J. 1916	
	210a filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#110
5342	Closed Work Orders	4/1/2021 3:58:56	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/23/2021	Pingitor, Larry	Hooting Martilet	
	209 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#92
15343	Closed Work Orders	4/1/2021 3:58:56	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 -	4/23/2021	Pingitor, Larry		
	Refer to PM schedule details. 333 filters changed	Medium		Heating/Ventilatio n/Air Conditioning	HP#11

5/12/2021 11:22:10 AM Page 10 of 22

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15344	Closed Work Orders	4/1/2021 3:58:57	Robert Carter		30 Saddle Way
	Refer to PM schedule details	4/13/2021 Medium	Pingitor, Larry	Heating/Ventilatio	HP#91
	332 filters changed			n /Air Conditioning	111 #31
15345	Closed Work Orders	4/1/2021 3:58:57	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/13/2021 Medium	Pingitor, Larry	Heating/Ventilatio	LID#40
	331 filters changed	Weatum		n /Air Conditioning	HP#12
15346	Closed Work Orders	4/1/2021 3:58:57	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/13/2021	Pingitor, Larry		
	stairway 4 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#90
15347	Closed Work Orders	4/1/2021 3:58:57	Robert Carter		30 Saddle Way
	Pofor to PM schodulo details	4/13/2021	Pingitor, Larry	Hooting Wontilatio	LID#40
	327 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#13
15348	Closed Work Orders	4/1/2021 3:58:57	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/16/2021 Medium	Pingitor, Larry	Heating/Ventilatio	HP#10
	329 filters changed	Median		n /Air Conditioning	HF#10
15349	Closed Work Orders	4/1/2021 3:58:57	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/16/2021	Pingitor, Larry		
	326 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#14
15350	Closed Work Orders	4/1/2021 3:58:57	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/16/2021 Medium	Pingitor, Larry	Heating/Ventilatio	LID#0
	328 filters changed	weutum		n /Air Conditioning	HP#9
15351	Closed Work Orders	4/1/2021 3:58:58	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/13/2021	Pingitor, Larry	Hooting ///or tiletic	
	325b filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#31

5/12/2021 11:22:10 AM Page 11 of 22

Work OrderID	Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15352	Closed Work Orders	4/1/2021 3:58:58	Robert Carter		30 Saddle Way
	Refer to PM schedule details	4/13/2021 Medium	Pingitor, Larry	Heating/Ventilatio	HP#29
	hallway by 325b filters changed	Wood Carr		n /Air Conditioning	111 #29
15353	Closed Work Orders	4/1/2021 3:58:58	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/13/2021 Medium	Pingitor, Larry	Heating/Ventilatio	UD#45
	325b filters changed	Weatum		n /Air Conditioning	HP#15
15354	Closed Work Orders	4/1/2021 3:58:58	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/13/2021	Pingitor, Larry		
	325 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#30
15355	Closed Work Orders	4/1/2021 3:58:58	Robert Carter		30 Saddle Way
	Pofor to PM schodulo details	4/13/2021	Pingitor, Larry		
	stairway 3 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#89
15356	Closed Work Orders	4/1/2021 3:58:58	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/13/2021 Medium	Pingitor, Larry	Heating/Ventilatio	LID#0
	322 filters changed	Medium		n /Air Conditioning	HP#8
15357	Closed Work Orders	4/1/2021 3:58:59	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/13/2021	Pingitor, Larry		
	321 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#17
15358	Closed Work Orders	4/1/2021 3:58:59	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/13/2021 Medium	Pingitor, Larry	Heating/Ventilatio	LID#7
	320 filters changed	weutun		n /Air Conditioning	HP#7
15359	Closed Work Orders	4/1/2021 3:58:59	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/13/2021	Pingitor, Larry	Heating/Ventilatio	LID#22
	hallway by 324 filters changed	Medium		n /Air Conditioning	HP#28

5/12/2021 11:22:10 AM Page 12 of 22

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15360	Closed Work Orders	4/1/2021 3:58:59	Robert Carter		30 Saddle Way
	Refer to PM schedule details	4/13/2021 Medium	Pingitor, Larry	Heating/Ventilatio	HP#18
	317 filters changed			n /Air Conditioning	711 1110
15361	Closed Work Orders	4/1/2021 3:58:59	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/13/2021 Medium	Pingitor, Larry	Heating/Ventilatio	HP#19
	315 filters changed	Modrain		n /Air Conditioning	HF#19
5362	Closed Work Orders	4/1/2021 3:58:59	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 -	4/13/2021	Pingitor, Larry		
	Refer to PM schedule details. 316 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#6
5363	Closed Work Orders	4/1/2021 3:58:59	Robert Carter	<u>_</u>	30 Saddle Way
	Pofor to PM schodulo details	4/13/2021	Pingitor, Larry	I I a akira na A fara kilakia	
	313 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#20
15364	Closed Work Orders	4/1/2021 3:59:00	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/12/2021 Medium	Pingitor, Larry	Heating/Ventilatio	HP#5
	314 filters changed	Meatum		n /Air Conditioning	пг#э
5365	Closed Work Orders	4/1/2021 3:59:00	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/12/2021	Pingitor, Larry		
	312by hallway filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#27
5366	Closed Work Orders	4/1/2021 3:59:00	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/13/2021 Medium	Pingitor, Larry	Heating/Ventilatio	LID#00
	stairway 2 filters changed	.viodiuili		n /Air Conditioning	HP#88
5367	Closed Work Orders	4/1/2021 3:59:00	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 -	4/13/2021	Pingitor, Larry		
	Refer to PM schedule details. 310 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#21

5/12/2021 11:22:10 AM Page 13 of 22

Work OrderID	Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15368	Closed Work Orders	4/1/2021 3:59:00	Robert Carter		30 Saddle Way
	Refer to PM schedule details	4/13/2021 Medium	Pingitor, Larry	Heating/Ventilatio	HP#22
	307 filters changed			n /Air Conditioning	111 "ZZ
15369	Closed Work Orders	4/1/2021 3:59:00	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/13/2021 Medium	Pingitor, Larry	Heating/Ventilatio	LID#00
	hallway by 307	Medium		n /Air Conditioning	HP#26
15370	Closed Work Orders	4/1/2021 3:59:01	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/12/2021	Pingitor, Larry		
	hp 3 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#3
15371	Closed Work Orders	4/1/2021 3:59:01	Robert Carter		30 Saddle Way
	Refer to PM schedule details	4/12/2021	Pingitor, Larry	Llooting (Vantilatio	LID#00
	hp 23 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#23
15372	Closed Work Orders	4/1/2021 3:59:01	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/12/2021 Medium	Pingitor, Larry	Heating/Ventilatio	HP#2
	304 filters changed	ivieatum		n /Air Conditioning	ПГ#2
15373	Closed Work Orders	4/1/2021 3:59:01	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/12/2021	Pingitor, Larry		
	303 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#24
15374	Closed Work Orders	4/1/2021 3:59:01	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/12/2021 Medium	Pingitor, Larry	Heating/Ventilatio	LID#05
	301 filters changed	MEGIUIII		n /Air Conditioning	HP#25
15375	Closed Work Orders	4/1/2021 3:59:02	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details.	4/12/2021	Pingitor, Larry	Handing Alexander	
	stairway filters changed	Medium		Heating/Ventilatio n /Air Conditioning	HP#87

5/12/2021 11:22:10 AM Page 14 of 22

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15376	Closed Work Orders	4/1/2021 3:59:02	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 2/7/2012 - Refer to PM schedule details. 302 filters changed	4/12/2021 Medium	Pingitor, Larry	Heating/Ventilatio n /Air Conditioning	HP#1
15377	Closed Work Orders	4/1/2021 3:59:03	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 3/21/2012 - Refer to PM schedule details.	4/12/2021 Medium	Pingitor, Larry	Heating/Ventilatio	Sanyo 1
	sanyo 1 filter and remote was working ok. unit running ok			n /Air Conditioning	ourryo i
5379	Closed Work Orders	4/1/2021 3:59:03	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 3/21/2012 - Refer to PM schedule details.	4/12/2021	Pingitor, Larry		
	sanyo 3 filter and remote was ok	Medium		Heating/Ventilatio n /Air Conditioning	Sanyo 3
5380	Closed Work Orders	4/1/2021 3:59:03	Robert Carter		30 Saddle Way
	- Refer to PM schedule details	4/12/2021 Medium	Pingitor, Larry	Heating/Ventilatio	Sanyo 4
	sanyo 4 remote and filter was ok unit running ok			n /Air Conditioning	Garry 0 +
5381	Closed Work Orders	4/1/2021 3:59:04	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 3/21/2012 - Refer to PM schedule details.	4/12/2021 Medium	Pingitor, Larry	Heating/Ventilatio	Sanyo 5
	filter and remote was ok unit running ok			n /Air Conditioning	
5382	Closed Work Orders	4/1/2021 3:59:04	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 3/21/2012 - Refer to PM schedule details.	4/12/2021	Pingitor, Larry		
	sanyo 6 unit running ok filter and remote was ok	Medium		Heating/Ventilatio n /Air Conditioning	Sanyo 6
5383	Closed Work Orders	4/1/2021 3:59:04	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 3/21/2012 - Refer to PM schedule details.	4/12/2021	Pingitor, Larry	Hooting // fontilet-	
	sanyo 7 unit was ok filter and remote was ok	Medium		Heating/Ventilatio n /Air Conditioning	Sanyo 7
5384	Closed Work Orders	4/1/2021 3:59:04	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 3/21/2012 - Refer to PM schedule details.	4/12/2021 Medium	Pingitor, Larry	Heating/Ventilatio	Sanyo 8
	remote anf filer was ok unit running ok			n /Air Conditioning	•

5/12/2021 11:22:10 AM Page 15 of 22

Work OrderID	Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15385	Closed Work Orders Monthly - PM Schedule created on 3/21/2012	4/40/0004	Robert Carter Pingitor, Larry		30 Saddle Way
	- Refer to PM schedule details.	Medium	ringitor, Larry	Heating/Ventilatio	Sanyo 9
	sanyo 9 filter and remote was ok unit running ok			n /Air Conditioning	,
15386	Closed Work Orders	4/1/2021 3:59:04	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 3/21/2012 - Refer to PM schedule details.		Pingitor, Larry		
	sanyo 19 filter and remote was ok unit running	Medium I		Heating/Ventilatio n /Air Conditioning	Sanyo 10
15387	Closed Work Orders	4/1/2021 3:59:05	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 9/25/2012 - Refer to PM schedule details.	4/12/2021	Pingitor, Larry		
	not being used at this time	Medium		Refrigeration	lce Machine#1
15388	Closed Work Orders	4/1/2021 3:59:06	Robert Carter		30 Saddle Way
10000	Monthly - PM Schedule created on 9/25/2012	4/10/0001	Pingitor, Larry		
	- Refer to PM schedule details.		3 , y	Pest Control	IPM
	IPM no findings by contractors				
15389	Closed Work Orders	4/12/2021	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 9/25/2012 - Refer to PM schedule details.		Pingitor, Larry	Refrigeration	Food Line Refrig #1
	food line 1 fridge. cleaned coil				. 000 <u>_</u> 0.10g " .
15390	Closed Work Orders	4/1/2021 3:59:07	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 9/25/2012 - Refer to PM schedule details.	4/12/2021	Pingitor, Larry		
	food line fridge.2 cleaned coil	Medium		Refrigeration	Food Line Refrig#2
15391	Closed Work Orders	4/1/2021 3:59:09	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 9/25/2012 - Refer to PM schedule details.	4/12/2021	Pingitor, Larry	Defeirementen	
	milk cooler cleaned coil	Medium		Refrigeration	Milk Cooler #1
15392	Closed Work Orders	4/1/2021 3:59:11	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 9/25/2012	4/12/2021	Pingitor, Larry		
	- Refer to PM schedule details. reach in firdge coil was cleaned	Medium		Refrigeration	Reach In Ref#2
15393	Closed Work Orders	4/1/2021 3:59:11	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 9/25/2012 - Refer to PM schedule details.	4/12/2021	Pingitor, Larry	Potria oration	5 11 5 21
	reach in fridge 1 coil was changed	Medium		Refrigeration	Reach In Refrig #1

5/12/2021 11:22:10 AM Page 16 of 22

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15394	Closed Work Orders	4/4/0004	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 12/3/2012 - Refer to PM schedule details.		Pingitor, Larry		DOOF
	roof no new leaks at this time	Wedtum			ROOF
5396	Closed Work Orders	4/1/2021	Anne Lawrence	Classroom	30 Saddle Way
	Need 5 desks, 8 chairs Time Available: 09/10/2018	4/1/2021 Medium	Pingitor, Larry	Custodial	b115
	desks and chairs delivered	Medium		Custodia	
5397	Closed Work Orders	4/5/2021 2:41:03	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details.	4/12/2021 Medium	Pingitor, Larry		DI AVODOLIND#4
	playground 1 trash and litter was cleaned up no issues found	Weatum			PLAYGROUND#1
5398	Closed Work Orders	4/40/0004	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details.		Pingitor, Larry		Playground#2
	playground 2 trash and litter was cleaned up no issues found				i laygroundiiz
5399	Closed Work Orders	4/5/2021 2:41:05	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/27/2012 - Refer to PM schedule details.		Pingitor, Larry		_
	generator gen serv inspection run time 303.8	Medium			Generator
5400	Closed Work Orders	4/5/2021 2:41:06	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 8/6/2012 - Refer to PM schedule details.	4/12/2021	Pingitor, Larry		
	vacuum 1 bags and belt was changed	Medium		Equipment Maintenance	Vacuum#1
5401	Closed Work Orders	4/5/2021 2:41:06	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 8/6/2012 - Refer to PM schedule details.	4/12/2021	Pingitor, Larry	Faulo '	
	vacuum 2 bag and belt was changed	Medium		Equipment Maintenance	Vacuum#2
15402	Closed Work Orders	4/5/2021 2:41:06	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 8/6/2012 - Refer to PM schedule details.	4/12/2021	Pingitor, Larry	Facility	
	vacuum 3 belt and bag was changed	Medium		Equipment Maintenance	Vacuum#3
5403	Closed Work Orders	4/5/2021 2:41:06	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 8/6/2012 - Refer to PM schedule details.	4/12/2021	Pingitor, Larry		
	bag and belt was changed	Medium		Equipment Maintenance	Vacuum#4

5/12/2021 11:22:10 AM Page 17 of 22

Work OrderID	Status Description Action Taken	Request Date Requester Completion Date Assigned To		Area Type Building	Location Area Number
		Priority		Craft	Equipment
15404	Closed Work Orders	4/5/2021 2:41:06	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 8/6/2012 - Refer to PM schedule details. back pack vacuum bag was changed	4/12/2021 Medium	Pingitor, Larry	Equipment Maintenance	Vacuum#5
15405	Closed Work Orders	4/5/2021 2:41:07	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 9/10/2012 - Refer to PM schedule details.	4/12/2021 Medium	Pingitor, Larry	Landscaping	Courtyard
	Court yard grass was cut			g	Courtyalu
15406	Closed Work Orders	4/8/2021 1:10:53	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	4/9/2021 Medium	Pingitor, Larry	Heating/Ventilatio	UH#11
	Water room Dan found water pipe dripping. Benjamin Franklin plumbing replaced bad pipe and fittings. On water heater outlet			n /Air Conditioning	O. I
5407	Closed Work Orders	4/8/2021 1:10:53	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	4/12/2021 Medium	Pingitor, Larry	Heating/Ventilatio	UH#12
	Fire pump room heat was on no issues at his time			n /Air Conditioning	011#12
15408	Closed Work Orders	4/12/2021 1:26:03	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details.	4/12/2021 Medium	Pingitor, Larry		PLAYGROUND#1
	playground 1 trash and litter was cleaned up equipment was ok				TEATONOW T
5409	Closed Work Orders	4/12/2021 1:26:04	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details.	4/12/2021 Medium	Pingitor, Larry		Playground#2
	playground 2 no issues found trash and litter was picked up				r rayground#2
5410	Closed Work Orders	4/12/2021 1:26:05	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/11/2012 - Refer to PM schedule details.	4/12/2021 Medium	Pingitor, Larry	Equipment	Steamer #1
	not in use			Maintenance	Steamer # 1
15411	Closed Work Orders	4/12/2021 1:26:06	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/27/2012 - Refer to PM schedule details.	_ 4/22/2021 Medium	Pingitor, Larry		Generator
	no test needed at this time				

5/12/2021 11:22:10 AM Page 18 of 22

Work OrderID	Status Description Action Taken	Request Date Completion Date Priority	Requester Assigned To	Area Type Building Craft	Location Area Number Equipment
15412	Closed Work Orders Weekly - PM Schedule created on 9/10/2012 - Refer to PM schedule details. grass was cut	4/12/2021 1:26:06 4/16/2021 Medium	Robert Carter Pingitor, Larry	Landscaping	30 Saddle Way Courtyard
15413	Closed Work Orders classroom sink will not drain plunged sink running ok	4/12/2021 4/12/2021 Medium	Joan mueller Pingitor, Larry	Classroom	30 Saddle Way 227
15414	Closed Work Orders paper towel dispenser not working replaced paper towel dispenser	4/12/2021 4/12/2021 Medium	Ruben moncada Pingitor, Larry	Classroom	30 Saddle Way 234
15415	Closed Work Orders I amin need of 4 student desks and 5 student chairs in prep for next week when all students come in. Time Available: any desk and chairs were delivered	4/12/2021 4/13/2021 Medium	Nicole Hartman Pingitor, Larry	Classroom General Maintenance	30 Saddle Way B307
15416	Closed Work Orders hot water dripping on sink no water presser working ok	4/13/2021 4/23/2021 Medium	Larry Pingitor Pingitor, Larry	Restroom (Staff) Plumbing	30 Saddle Way
15417	Closed Work Orders Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details. Water room heat is turned off no water presse mixing valve not working . valve was replaced by alliance plumbing . 4-22-2021	4/15/2021 4/22/2021 Medium	Robert Carter Pingitor, Larry	Heating/Ventilatio n /Air Conditioning	30 Saddle Way UH#11
15418	Closed Work Orders Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details. fire pump room heat was turned off no issues found	4/15/2021 4/20/2021 Medium	Robert Carter Pingitor, Larry	Heating/Ventilatio n /Air Conditioning	30 Saddle Way UH#12
15419	Closed Work Orders Yearly - PM Schedule created on 11/29/2012 - Refer to PM schedule details. snapper snow blower is not in service any more	4/15/2021 4/22/2021 Medium	Robert Carter Pingitor, Larry		30 Saddle Way Snow Blower #1

5/12/2021 11:22:10 AM Page 19 of 22

Work OrderID	Status Description Action Taken	Request Date Completion Date	Requester Assigned To	Area Type Building Craft	Location Area Number Equipment
15420	Closed Work Orders	Priority 4/15/2021	Robert Carter	Crail	30 Saddle Way
13420	Yearly - PM Schedule created on 11/29/2012 - Refer to PM schedule details. toro snow blower winterized it	4/13/2021 4/22/2021 Medium	Pingitor, Larry		Snow Blower #2
15421	Closed Work Orders Yearly - PM Schedule created on 11/29/2012 - Refer to PM schedule details. runs good belt and plug was ok oil was clean	4/15/2021 4/16/2021 Medium	Robert Carter Pingitor, Larry		30 Saddle Way Snow Blower #3
15422	Closed Work Orders Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details. Playground 1 trash and litter was picked up no issues found	Medium	Robert Carter Pingitor, Larry		30 Saddle Way PLAYGROUND#1
15423	Closed Work Orders Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details. Playground 2 trash and litter was picked up	4/19/2021 1:24:18 4/22/2021 Medium	Robert Carter Pingitor, Larry		30 Saddle Way Playground#2
15424	Closed Work Orders Weekly - PM Schedule created on 2/27/2012 - Refer to PM schedule details. Generator run time 304.2 transfer test	4/19/2021 1:24:18 4/23/2021 Medium	Robert Carter Pingitor, Larry		30 Saddle Way Generator
15425	Closed Work Orders Weekly - PM Schedule created on 9/10/2012 - Refer to PM schedule details. Court yard grass was cut no issues found	4/19/2021 1:24:19 4/22/2021 Medium	Robert Carter Pingitor, Larry	Landscaping	30 Saddle Way Courtyard
15426	Closed Work Orders Amouse made its home in my printer!!!!! cought 5 mice cleaned area	4/19/2021 4/27/2021 Medium	Tracey Miller Pingitor, Larry	Classroom IT/Technology	30 Saddle Way 320
15429	Closed Work Orders Please put 8 student desks and chairs in room 116. Thank you. 8 desk and chairs were delivered and adjusted to room 116	Medium	Melissa Chou Pingitor, Larry	Classroom General Maintenance	30 Saddle Way 116
15432	Closed Work Orders Install first aid kit by lower level playground entrance. Please pick up kit at nurse's office. installed first aid kit in stairway 3 lower level	4/20/2021 4/21/2021 Medium	Charmaine Ramos Pingitor, Larry	Nurse's Office Equipment Maintenance	30 Saddle Way 202

5/12/2021 11:22:10 AM Page 20 of 22

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15433	Closed Work Orders	4/20/2021	Liz Schauer	Classroom	30 Saddle Way
	Can I please have one rectangle student table brought to my room please? Thank you moved table in to classroom	4/21/2021 Medium	Pingitor, Larry	Moving	229
15435	Closed Work Orders	4/22/2021	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	4/22/2021	Pingitor, Larry		
	no new issues found	Medium		Heating/Ventilatio n /Air Conditioning	UH#11
5436	Closed Work Orders	4/22/2021	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	4/22/2021 Medium	Pingitor, Larry	Heating/Ventilatio	UH#12
	fire pump room no issues found	Wediam		n /Air Conditioning	UH#12
15437	Closed Work Orders	4/22/2021	robert cochrane	Classroom	30 Saddle Way
	Please clear out the area of refuge as much as possible and place a student desk and a chair inside. Thank you!	4/22/2021 Medium	Pingitor, Larry	Moving	Band Room
	cleaned out area and put student desk and chair in place				
5438	Closed Work Orders	4/22/2021	Lauran Gleason	Classroom	30 Saddle Way
	My office chair for my desk is missing. Can I please have one? Thank you!	4/22/2021 Medium	Pingitor, Larry	Custodial	B102
	(I have an old office chair that I keep at the kidney shape table.) Time Available: anytime delivered chair				
15439	Closed Work Orders	4/22/2021	Kathleen	Classroom	30 Saddle Way
	The paper towel dispenser cover is hanging off. Time Available: 8:00am - 1:00pm	4/22/2021	Augustin Pingitor, Larry		228
	Steven closed it back up	Medium		Equipment Maintenance	
5440	Closed Work Orders	4/22/2021	Dan Cardona	Hallway/Comdor	30 Saddle Way
	champions needs a bulletin board installed outside of cafeteria	4/22/2021 Medium	Pingitor, Larry		
	installed board	IVICUTUITI			
5443	Closed Work Orders	4/26/2021 1:35:12	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details.	4/29/2021	Pingitor, Larry		DI AVODOLINIO III
	playground 1 trash and litter was cleaned up no issues at this time	Medium			PLAYGROUND#1

5/12/2021 11:22:10 AM Page 21 of 22

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15445	Closed Work Orders	4/26/2021 1:35:13	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/11/2012 -	4/26/2021	Pingitor, Larry		
	Refer to PM schedule details. steamer not being used at this time	Medium		Equipment Maintenance	Steamer #1
15446	Closed Work Orders	4/26/2021 1:35:13	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/27/2012 -	4/26/2021	Pingitor, Larry		
	Refer to PM schedule details. no test needed at this time	Medium			Generator
15447	Closed Work Orders	4/26/2021 1:35:14	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 9/10/2012 - Refer to PM schedule details.	4/26/2021 Medium	Pingitor, Larry	Landscaping	Courtyard
	courtyard grass was cut	Wodram		Larrassaping	Courtyald
15449	Closed Work Orders	4/29/2021 2:14:54	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012 -	4/29/2021	Pingitor, Larry		
	Refer to PM schedule details. water room no issues at this time	Medium		Heating/Ventilatio n /Air Conditioning	UH#11
15450	Closed Work Orders	4/29/2021 2:14:54	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012 -	4/29/2021	Pingitor, Larry		
	Refer to PM schedule details. fire pump room no issues at this this time	Medium		Heating/Ventilatio n /Air Conditioning	UH#12

5/12/2021 11:22:10 AM Page 22 of 22

Month		Monthly Generation (kWh)	Cumulative from March 2011	SREC's per month	SREC's Cumulative from March 2011	SREC's sold	Rate per SREC	Total Sale Amount	Date of Sale	Remaining SREC's to sell
February, 2011	2770	2770		-		-	¢c20	¢2.400.00	0/0/11	
March, 2011	8330	5560		5		5	\$620	\$3,100.00	9/8/11	
April, 2011	12790	4460		6		6	\$620	\$3,720.00	9/8/11	
May, 2011	18580	5790		7		7	\$620	\$4,340.00	9/8/11	
June, 2011	27880	9300	25110	7	25	7	\$100	\$700.00	6/1/12	
July, 2011	36008	8128	33238	8	33	8	\$100	\$800.00	6/1/12	
August, 2011	42832	6824	40062	6	39	6	\$100	\$600.00	6/1/12	
September, 2011	44594	1762	41824	1	40	1	\$100	\$100.00	6/1/12	
October, 2011	49840	5246	47070	5	45	5	\$100	\$500.00	6/1/12	
November, 2011	52780	2940	50010	3	48	3	\$100	\$300.00	6/1/12	
December, 2011	55662	2882	52892	3	51	3	\$100	\$300.00	6/1/12	
January, 2012	58390	2728	55620	3	54	3	\$100	\$300.00	6/1/12	
February, 2012	62012	3622	59242	3	57	3	\$100	\$300.00	6/1/12	
March, 2012	67228	5216	64458	5	62	5	\$100	\$500.00	6/1/12	
March, 2012				2	64	2	\$122.50	\$245.00	5/28/13	
April, 2012	73557	6329	70787	6	70	6	\$122.50	\$735.00	5/28/13	
May, 2012	80249	6692	77479	7	77	7	\$122.50	\$857.50	5/28/13	
June, 2012	86301	6052	83531	6	83	6	\$135.50	\$813.00	5/28/13	
July, 2012	92564	6263	89794	6	89	6	\$135.50	\$813.00	5/28/13	
August, 2012	98918	6354	96148	7	96	7	\$135.50	\$948.50	5/28/13	
September, 2012	103665	4747	100895	4	100	4	\$135.50	\$542.00	5/28/13	
October, 2012	106951	3286	104181	4	104	4	\$135.50	\$542.00	5/28/13	
November, 2012	109775	2824	107005	3	107	3	\$135.50	\$406.50	5/28/13	
December, 2012	111679	1904	108909	1	108	1	\$135.50	\$135.50	5/28/13	
January, 2013	114506	2827	111736	3	111	3	\$135.50	\$406.50	5/28/13	
February, 2013	117268	2762	114498	3	114	3	\$135.50	\$406.50	12/4/13	
March, 2013	120850	3582	118080	4	118	4	\$135.50	\$542.00	12/4/13	
April, 2013	127875	7025	125105	7	125	7	\$135.50	\$948.50	12/4/13	
May, 2013	134826	6951	132056	7	132	7	\$135.50	\$948.50	12/4/13	
June, 2013	141813	6987	139043	7	139	7	\$140.00	\$980.00	12/4/13	
July, 2013	146518	4705	143748	4	143	4	\$140.00	\$560.00	12/4/13	
August, 2013	152478	5960	149708	6	149	6	\$140.00	\$840.00	12/4/13	
September, 2013	158850	6372	156080	7	156	7	\$140.00	\$980.00	12/4/13	
October, 2013	161905	3055	159135	3	159	3	\$140.00	\$420.00	12/4/13	
November, 2013	165060	3155	162290	3	162	3	\$175.00	\$525.00	6/16/14	
December, 2013	166379	1319	163609	1	163	1	\$175.00	\$175.00	6/16/14	
January, 2014	168122	1743	165352	2	165	2	\$175.00	\$350.00	6/16/14	
February, 2014	169528	1406	166758	1	166	1	\$175.00	\$175.00	6/16/14	
March, 2014	173999	4471	171229	5	171	5	\$175.00	\$875.00	6/16/14	
April, 2014	179855	5856	177085	6	177	6	\$175.00	\$1,050.00	6/16/14	
May, 2014	186024	6169	183254	6	183	6	\$196.00	\$1,176.00	12/7/14	
June, 2014	193796	7772	191026	8	191	8	\$197.00	\$1,576.00	12/7/14	
July, 2014	200195	6399	197425	6	197	6	\$197.00	\$1,182.00	12/7/14	
August, 2014	205793	5598	203023	6	203	6	\$197.00	\$1,182.00	12/7/14	
September, 2014	210414	4621	207644	4	207	4	\$197.00	\$788.00	12/7/14	
October, 2014	214312	3898	211542	4	211	4	\$197.00	\$788.00	12/7/14	
November, 2014	216878	2566	214108	3	214	3	\$228.50	\$685.50	6/17/15	
December, 2014	218810	1932	216040	2	216	2	\$228.50	\$457.00	6/17/15	
January, 2015	220903	2093	218133	2	218	2	\$228.50	\$457.00	6/17/15	
February, 2015	223106	2203	220336	2	220	2	\$228.50	\$457.00	6/17/15	
March, 2015	226883	3777	224113	4	224	4	\$228.50	\$914.00	6/17/15	
April, 2015	232854	5971	230084	6	230	6	\$228.50	\$1,371.00	6/17/15	
May, 2015	239646	6792	236876	6	236	6	\$258.00	\$1,548.00	12/1/15	

P:\Amy\2019-2021\Agenda\2021\5-19-2021 Agenda\E+mon D-mon Meter Readings (14)

June, 2015	245524	5878	242754	6	242	6	\$258.00	\$1,548.00	12/1/15	
July, 2015	252536	7012	249766	7	249	7	\$258.00	\$1,806.00	12/1/15	
August, 2015	259153	6617	256383	7	256	7	\$258.00	\$1,806.00	12/1/15	
September, 2015	263908	4755	261138	5	261	5	\$258.00	\$1,290.00	12/1/15	
October, 2015	268273	4365	265503	4	265	4	\$258.00	\$1,032.00	12/1/15	
November, 2015	271026	2753	268256	3	268	3	\$193.00	\$579.00	8/15/17	
December, 2015	273242	2216	270472	2	270	2	\$193.00	\$386.00	8/15/17	
January, 2016	275363	2121	272593	2	272	2	\$193.00	\$386.00	8/15/17	
February, 2016	277983	2620	275213	3	275	3	\$193.00	\$579.00	8/15/17	
March, 2016	283738	5755	280968	5	280	5	\$193.00	\$965.00	8/15/17	
April, 2016	289130	5392	286360	6	286	6	\$193.00	\$1,158.00	8/15/17	
May, 2016	294478	5348	291708	5	291	5	\$193.00	\$965.00	8/15/17	
June, 2016	302274	7796	299504	8	299	8	\$195.00	\$1,560.00	8/15/17	
July, 2016	308004	5730	305234	6	305	6	\$195.00	\$1,170.00	8/15/17	
August, 2016	314445	6441	311675	6	311	6	\$195.00	\$1,170.00	8/15/17	
September, 2016	319354	4909	316584	5	316	5	\$195.00	\$975.00	8/15/17	
October, 2016	323364	4010	320594	4	320	4	\$195.00	\$780.00	8/15/17	
November, 2016	326569	3205	323799	3	323	3	\$195.00	\$585.00	8/15/17	
December, 2016	328851	2282	326081	3	326	3	\$195.00	\$585.00	8/15/17	
January, 2017	330377	1526	327607	1	327	1	\$195.00	\$195.00	8/15/17	
February, 2017	333530	3153	330760	3	330	3	\$195.00	\$585.00	8/15/17	
March, 2017	337510	3980	334740	4	334	4	\$195.00	\$780.00	8/15/17	
April, 2017	342349	4839	339579	5	339	5	\$195.00	\$975.00	8/15/17	
May, 2017	348015	5666	345245	6	345	6	\$195.00	\$1,170.00	8/15/17	
June, 2017	354910	6895	352140	7	352	7	\$225.50	\$1,578.50	6/21/18	
July, 2017	360693	5783	357923	5	357	5	\$225.50	\$1,127.50	6/21/18	
August, 2017	367274	6581	364504	7	364	7	\$225.50	\$1,578.50	6/21/18	
September, 2017	371617	4343	368847	4	368	4	\$225.50	\$902.00	6/21/18	
October, 2017	375258	3641	372488	4	372	4	\$225.50	\$902.00	6/21/18	
November, 2017	378337	3079	375567	3	375	3	\$225.50	\$676.50	6/21/18	
December, 2017	380253	1916	377483	2	377	2	\$225.50	\$451.00	6/21/18	
January, 2018	382604	2351	379834	2	379	2	\$225.50	\$451.00	6/21/18	
February, 2018	385186	2582	382416	3	382	3	\$225.50	\$676.50	6/21/18	
March, 2018	389701	4515	386931	4	386	4	\$225.50	\$902.00	6/21/18	
April, 2018	393945	4244	391175	5	391	5	\$225.50	\$1,127.50	6/21/18	
May, 2018	399873	5928	397103	6	397					6
June, 2018	406148	6275	403378	6	403					6
July, 2018	412093	5945	409323	6	409					6
August, 2018	418417	6324	415647	6	415					6
September, 2018	421469	3052	418699	3	418					3
October, 2018	425118	3649	422348	4	422					4
November, 2018	427655	2537	424885	2	424					2
December, 2018	429732	2077	426962	2	426					2
January, 2019	432133	2401	429363	3	429					3
February, 2019	435366	3233	432596	3	432					3
March, 2019	440432	5066	437662	5	437					5
April, 2019	445995	5563	443225	6	443					6
May, 2019	452163	6168	449393	6	449					6
June, 2019	458474	6311	455704	6	455					6
July, 2019	467987	9513	465217	10	465					10
August, 2019	471540	3553	468770	3	468					3
September, 2019	476427	4887	473657	5	473					5
October, 2019	479948	3521	477178	4	477					4
November, 2019	483146	3198	480376	3	480					3
December, 2019	485137	1991	482367	2	482					2
January, 2020	487839	2702	485069	3	485					3

E+mon D-mon Meter Readings

February, 2020	491107	3268	488337	3	488			3
March, 2020	498915	7808	496145	8	496			8
April, 2020	500565	1650	497795	1	497			1
May, 2020	507164	6599	504394	7	504			7
June, 2020	515283	8119	512513	8	512			8
July, 2020	521172	5889	518402	6	518			6
August, 2020	526269	5097	523499	5	523			5
September, 2020	531947	5678	529177	6	529			6
October, 2020	534481	2534	531711	2	531			2
November, 2020	537385	2904	534615	3	534			3
December, 2020	539345	1960	536575	2	536			2
January, 2021	542002	2657	539232	3	539			3
February, 2021	543046	1044	540276	1	540			1
March, 2021	550978	7932	548208	8	548			8
April, 2021	554599	3621	551829		548			
Totals						391	\$77,764.50	157

^{**8/3/12:} updated April and June with figures from CEPS website from 24 to 21 SREC's